L,&? (4 Vot MeA 671 [/)#

o Red ppg C BOP chol, >i~vy vigan

" Ocfhrunfinl_Cpunfion
- Ordiveacy”  vhene fumefion 5 o fucfion of Juit [ —yaridle.

B Pﬁ‘fk‘tk‘d " "F\M&-Vf‘:w"‘i “‘P’ IM@M?' VQMM . é:g_us }P&Vﬂ.l.\/e,. ._ .-F;‘yf bl
" oveley " + ’ -'—")' eveley | '

\}";—i GVM}'

7+ = (=)
4 olufion
b
- = Fa) +¢
) W

Lope L (5 orderc linear hamegencews - ut sl ‘ -

MZ) p b A gt = 0

L3 3 -@mgﬁ‘ms Gia /K); -—F@'fﬁt&maﬁ&ws e MK ;
L = aﬂxf'kjéL
f',P& o '

L(/‘G-{,gy) = Clu) ot EM)

.

<>
S Cheoapp) = f)

- | 7%%{: J(fc’z}tzﬁz s

WL

__bk
S L2 T

M= e ."lc,,, . Ca 14 arbitrary




E_Xam Ple

N
= I
i1
L
A

(= /
= C,|tl>
= k"
= M= ce” CeR
- =
Fog o

t-CetY’ ;l(cé’) g

T‘/pe}— C8t gl frhﬁﬁy neyt — W

a\(zlv . b(—xJ7L- (=)

b C

—-~<s>—j;f—7°{797—=—3ﬁ:} P 5:ﬁ

Toick * Mulfiph Q,W'M l;;; an "Fp@iggkﬁﬁ}x? focter |t so Ahed- the
LHS wowdel be o cbnivodive
RHS  LHS
M =My HPuy = Cpy)

¥ le 1
Ay 'y




o Q,‘»fam.p[e B

_ Golve tytory=4t> | yuj=>
Golwhion
Wigh  the following

_ { .
— tpy’ + >y = ((tul-y) :
B S S TSV

(—é/“:/):q'tﬂ ) _
— (’tx;).)f;q-.b's S
+ % = £ e
R W R Pl N R e
A e =
> (
\l: ﬁ }L -t"
N / B 4 .)-'_‘L




